g? | gpe@’m/ Pfoo{ﬂuogf - Dﬂpiﬁemwe 07C %C‘W@f
m N
L (Do) 0 g l)

- = Sa+5a 25 = - F
= 27 -2%
— < ,\ A
Q. (6-/@_//@130\ [s. (@x”()\(j}f;—r()
= ¢ oo - I

32 ()
27 N /R
~(< =0 ()
. XL(“(

Ef_,g Cae,{w.‘fij @MQ'!QQ/W owa ngQ‘f

- WQ- Ve, e WQ\T O w — (0o & e
6 O
= (bv"(O )Cuwr(o ) \y Ao
2,75

Y. m’?‘*,ﬁfﬂ b x'-3¢4 o5
= [ Qo= 1) (et : (xa*é’)/xq"‘é)



0. "= ((7 L. Toa*—Qg

(D) pesp

AR LRI

- lUO{‘ Bnﬁraé/e
Xy 23 [fa g}
= () (xey) - (@a-38)(Re~3b)

T
{Oj ;g; # /?;3%?3

ST
’ (L/ _X>/f+x>

35 €3 -25

_ N ¥ @dﬁ\@\ﬂ ble Jéaca,ujb.. Le
Conml— do |4 |

.

ST A0 f m’m
Yo |+ (69 (0 )
~(Rb)(2) = Yab



V3. AT % %R 50
= A - 39) - 2[4 -[a5)

= C/n._f§'> (”’WS‘) _ Q/Qafé')(;lmeJ

#E;\‘?__J gpu“q/ /ﬂfz}cfw% - F%(‘]QQ)L S?/{/LQ/'Z,-Q
(-7 = %7 v (~(’;j>\: Y
2 (i) ~ )y )= 13/

o) (\/_ﬁm) L [za-tf‘
= (y-10)(y ) = (3e) (3e)
_ \/QMV + (00 N L ~ S« = Sa ¢
= \/Q~ &C?}( < (06 = T =l t]
Shockeat Ly, ¢
29 (gxfyaf 3 (- >y )Q
- QS\XQJF 20X +17 = b — E??’x) + 0@;1

Homerocs: .57 pg @85 # 7-3%
TL ey 287 ¥ Ay

87@9\‘8‘?#‘3 36



